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—BALTE I HIFLR

FRALAA R ERIYITH S BT X 50 155 =) WAL TG
TS A FHE gmid FHH 2% 3 HEARSH T H S H

BRI BT DR 155 R 23,227 1, 829 21,398
201 — AR SS 38 38
20136 FoAth =5 5 55 3 38 38
2013699 FoAth 7= 5 S 55 3 38 38
204 AL 3, 600 3, 600
20402 N 3, 600 3, 600
2040299 Fofth A 223 3, 600 3, 600
205 HAECH 1, 300 1, 300
20502 A 1, 300 1, 300
2050204 =T AE 1, 300 1, 300
208 2 R B Al S H 240 240
20805 AT BCF L AT B IR AR 240 240
2080505 WUl B HE AR TR AR R 4 9 S 164 164
2080506 WL MY EA AT HRY A 455 2 3 H 76 76
210 7 DAESTRIE RS 29 29
21007 HRIEEHES 29 29
2100799 FAth v RIAE B 9555 3 29 29
212 W2 A X 4, 892 1, 336 3, 556
21201 Y2 ALK B 5 4, 892 1, 336 3, 556
2120106 TAE B B 4, 892 1, 336 3, 556




221 3 55 PRBE S 13, 128 253 12, 875
22101 TREE 2 R TRE S H 12, 875 12, 875
2210103 WP X e 12, 875 12, 875
22102 5 S 253 253
2210201 ARG 134 134
2210203 T 55 A U 119 119




